Efficiency vs hit

geom
tbar-phasel-newgeom

pixelCPETemplateCutChiSquare30_step2_ttbar-phasel-newgeom

iyttt T
. bl )
8 s __' I I
I { A
H i
LRI M
H JXIT SR TV OY YU T CTRUPY POCTOOTY
0O 10 20 30 40 50 60 70 80
TP hits
== QYOI STepz Tharphaser newgeon
—e— DOM™pixelCPETemplate step2_ ttbar-phasel-new:
—— DQMpixelCPETemplateCutChiSquarel0_step2_ti
—— DOM pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom
— —— DQM”pixelCPETemplateCutChiSquare20_step2_ttbar-phasel-newgeom
[ Efficienc] == b
o 0.5
b4
[
£0.45
1
> 04
3
c
.90.35
1]
£ 0.3
@

- -

20 25
TP layers

Efficiency vs pixel layer

0 0.02p
018|
016
014
o12F
0.01F
008f
.006
0.004]
002]

10

_C,efficier_ggy ) pigl Igye

o

o

Ratio

1.

TP pixel layers

Efficiency vs 3D layer

0 0.05
o
D.045
S0.04
w
g;oss
§0.03]
Qo
£.025
0.02]
0.015
0.0}
0.005
10

Ratio

1=

8 10 12 14 16 18 20
TP 3D layers




	Contents
	Page 1


